® HAUSMANN INDUSTRIES, INC.

Installation/Operation Instructions

Model 1411 & 1412 - Mat Platform

This manual has been prepared for the owners and operators of the Hausmann Model 1411 & 1412 Mat
Platforms.

MODEL LENGTH WIDTH HEIGHT
141X-46 727 48" 18"
141X-47 84" 48" 18"
141X-57 84" 60" 18"
141X-68 96" 72" 18"

Model 1412-46-122

*All models have (6) legs for increased strength and stability.

+2” High-Density urethane foam.

*Upholstered in seamless heavy duty, tear-resistant nylon-reinforced vinyl.
*High pressure laminate finish on all exterior surfaces.

*18” height is convenient for therapist and wheelchair accessible for patient.
*You must specify laminate and upholstery color with order.

Parts Included:

(1) Apron/Frame with Upholstered Top (1412 Only). 1411 will have laminate top

(4) Corner Legs with pre-drilled hole with metal insert

(2) Center Legs with pre-drilled holes

(4) 5/16” Bolts

(4) Flat Washers

(4) Lock Washers

(4) Carriage Bolts (Installed with hardware in center apron section)

Installation Instructions

1. Place platform upside down on clean unobstructed surface.

2. Attach four corner legs with predrilled holes facing corner plates and fasten with supplied 5/16” bolts, 5/16
Washer and Lock Washer.

3. Place two center legs in place. To fasten leg use 4” X 1/4 - 20 Carriage Bolts with 1/4” washer, 1/4” lock
washer and 1/4” 20 Nut . (Two Bolts per leg)

4. Turn platform right side up. Make sure all 6 legs are secure to floor and mat is level. Add shims if
necessary to insure level condition (not included).

NOTE:For ease in assembling, lubricate leg bolts with soap or wax before installation.

owms,  Please join Hausmann's effort to reduce paper use and keep the planet green by using our paperless Warranty
T, Registration form. Visit www.hausmann.com and click on Warranty Registration. If you do not have web access or
b8 = prefer the form be mailed or faxed to you, please call Hausmann Customer Service.
-‘ As of January 1, 2010, we will no longer include the paper based forms, please visit the online link to fill in your
*/ews®  Warranty Form.

rev 07102012 CCH ©2012 HAUSMANN INDUSTRIES, INC.



